1. —#& %+ 500m

#w57E FEMRX AL —R R —NER

k2142 A1H (A)
IAARTH RN R EBEA T — e 2 —

N
Ay

R K4 PR SEAE g% =
1 F)I 3F] (RS 0:39.94
2 HR W R 0:40.93
3 &l = M K= 0:41.28
4 B JREHA 0:46.21
5 @AW —5B WA 0:47.45
6 A hE M HETSC 0:47.71
7 A oA AR, 0:48.50
8 Nk IEZ*E A 0:57.09
N JRIEHA DNS
2. BRAE%ZF 500m
JIELT K4 iR SEAE Gk i =
1 IRE Hme KT = 0:49.25
3. FFEAEBF 500m
(A - o £ G SEAE Gk i =
1 = B VG ES 1 0:48.93
2 Wil B Bk 52 2 0:51.37
4. P24 ¥ 500m
BT K4 iR AR Gk i =
1 RE RE o R 2 0:48.29
2 R Bk ZND ARy 2 0:50.09
3 ki BEA ZNDASEE Sy 2 0:51.23
4 EHR fE AR A5 1 0:57.78
BIRR A& FA | FR A8 3 DNS
B R ZNDASEE Sy 2 DNS
5. INEAGEAF T 500m
[ K4 iR SEAE GGk i =
1 Bk K B HIINFRE 6 0:55.31
2 HiE B CERSMINE 6 0:58.29
3 M E BH B /NS 6 0:58.50
I Y FNSWINES 6 0:58.61
5 UHE &Y FNSWINES 6 0:59.94



6. /INFEAGFELE LT 500m

WAL K4 G SEAE G =
1 #FH 299 gl H /NS 6 0:48.55
2  HkF BET Ny 6 0:49.52
3 $H =2UA gl H /N 6 0:49.98
4 NI fE KT H /N 6 0:50.05
5 faidf )jﬁ% LINSINES 6 0:50.11
6 HEH B§JY KBTI/ N 6 0:55.41
7. NFEASFEAFF 500m
(A £ G SEAE 6% =
1 R g FEJI /N 5 0:55.93
2 KM ZEsk YRR BN 5 0:56.61
3 e #E— AN INFEAE 5 0:59.78
4 R R YR /N 5 0:59.88
5 ARMH yEsh BH N 5 1:04.10
6 B EL BN 5 1:09.39
= PR g H /N 5 1:11.74
8. INFEALEA LT 500m
JIELT K4 G SEAE bk =
1 g ERe AN 5 0:50.06
2 kg Bk B H N 5 0:51.41
3 R g NIV 5 0:57.46
4 FEW T e ANE S 5 1:10.92
9. /INEAAFEAF T 500m
[ K4 iR AR Gk =
1 B A HIINFRE 4 1:00.10
i }Eﬁ %fﬂ &\JII/J\%&*‘ 4 1:04.15
] A A /N :04.
e MR 4 1966
5  HAT BRKES FNSWINES 4 1:35.62
10. /NEAAEA LT 500m
[ K4 iR SEAE Gk =
1 g ENIINEE S 4 0:56.91
2 I E=E KET /N 4 0:57.13
3 bk Hip CERSMINE 4 1:07.14
4 HEE ETY KBTI/ N 4 1:09.26
5 4Bl #H DY INFRE 4 1:19.05
6 #H BEXT KETAL/NFAE 4 1:20.31
[ S KETAE N 1 2:52.28
NI S eIy 4 DNS



11. /MNEASEA B F 500m

I K 4 G SEAE G =
I Hi LU AR 3 0:58.75
2 FRYL fhEG A FINFRE 3 1:00.40
3 Efk B A FINFRE 3 1:03.45
4 KR FEAE PHIA L 3 1:05.21
5 M = RNSWINES 3 1:05.56
6 PR BGE g H /N 3 1:11.35
7T B BEA A F IR 3 1:12.63
8 /B & 7/ NEF N ERARE 3 1:18.88
9 [UH B¢ CERSMINE 3 1:27.48
R BaE B TN 3 DNS
12. /NEAIFEA LT 500m
JIELST K4 G SEAE R =
1 kR 25 SN 3 0:59.39
2 luE NS WINESe 3 1:18.68
3 fEE P ST AN Y 3 1:30.40
13. /NEA2EA BT 500m
JIELT K4 G SEAE bk i =
1 Sof R ENEEE 2 1:17.55
2 Hf BA FE 7N 2 1:19.77
3 PR A FAIN N 2 1:24.93
4 KPH TREE SN AN Y 2 1:37.46
14. /NEA2FEA LT 500m
[ K 4 iR AR Gk i =
1 HFR RE EEENINE S 2 1:11.51
2 R EEA T B /N 2 1:18.61
3 /hE ALY YR BN 2 1:24.53
4 BEER HSH {1 B /N 2 1:31.45
15. /MEATEAE T 500m
[ K4 iR EEAE Gk i =
1 /N s EEIE= S 1 1:13.61
2 EK A Yk ML 1 1:23.16
3 mHk B YR /N 1 1:28.77
16. /NEA1FEA LT 500m
WL K4 iR SEAE GGk i =
1 ER JLEEH gl H /N 1 1:24.80
2 P2 HiE g1 H N 1 1:25.32
3 B B e INE S 1 1:33.93
4 FR¥C EM e INE 1 1:50.77



17. )& 100m

I K4 S SEAE G =
1 A IR BOSFEREETRH 0:28.72
2 HiE BA BOSFERER 0:29.82
3 AT REAE BOSFERER 0:31.21
4 P2 EE BOSFERER 0:40.38
18. %4 &ZF 1000m
JIELST K4 G SEAE g% =
1 S RE IELEEEEE 2 2:38.53
2 ki BERE NI A=y 2 2:38.76
& SEm NI A= 2 DNS
19. /NZEAEEAEF 1500m
JIELST K4 S EEAE I =
1 Bk i A NFRE 6 2:44.63
2 HiE 1B EIINSWINES 6 2:49.86
3 M E BH B /NS 6 2:51.82
I Y gl H /N 6 2:53.62
5 JuHE &Y g H /N 6 2:57.30
20. /NFAESEABEF 1500m
JIELT K4 S SEAE i W =
L kB ] ] H /AR 5 2:41.30
2 KM sk Lﬁﬁﬁd\‘;ﬂé& 5 2:57.61
3 Wt FENN/INAR 5 3:03.65
4 BFF By A FINFRE 5 3:13.30
5 e E— DIRENES 5 3:16.15
6 mEk 5= Ya L& /N2 5 3:27.05
T ARH ¥ES BH /N 5 3:39.52
21. /INFEAEAEBEF 1000m
[ K4 G SEAE I =
I =Y v < A TN 4 2:02.17
2 EHAR KFn LIS 4 2:12.17
3 A wim g B /N2 4 2:12.61
4 HE G g B /N2 4 2:31.62



22. INFASFEAEF 1000m

JELS K4 B A g i *
1 =H BFE WA R 3 2:00.28 CR
2 R thiE B N 3 2:01.48 CR
3 kg B B N 3 2:09.43
4 PR BGE g H/NFAR 3 2:13.47
5 /O & TN SZNE 3 2:18.23
6 B BT B N 3 2:18.32
7 M EAE BH A /N 3 2:18.75
8 M =2 g H/NFAR 3 2:24.37
9 JUH B gl H /N 3 2:39.66
Rl R B FINFRR 3 DNS
23. —#&%+ 1000m
[ K4 B AR i i *
1 ) 3EH] EIPNEE 1:18.44 CR
2 A 5 (ETLPNES 1:19.57 CR
3 HA WmE fEM R 1:22.32
4 BF SOE JREHAAR 1:36.28
5 iz e L HETSC 1:36.49
6 AL 78 B TR N 1:40.17
T @M —B A2 1:40.28
8 Nk 1EZF A2 1:58.88
N JREHAAR DNS
24. ERAZF 1000m
[ K4 B AR i S
1 RE B KET = 1 1:39.11
25. A ET 1000m
[ K4 7B AR i %
1 W 5 BA Bl H s 2 1:36.01
2 EE R FA =245 1 1:36.40
26. HFEA %L+ 1000m
JNELT K4 B AR i g %
1 RE KHE N TR 2 1:37.78
2 iOHh R (ELELE G 2 1:40.65
3 R ARk NP AR 2 1:40.87
4 HE FE FAN =A% 1 2:02.83
i 16 DAL= 2 DNS
i 32 7N AR 2 DNS
EARJE & R =245 3 DNS



27. INEAG6FEZF 1000m

I K4 G SEAE G =
1 ®¥H =24 g H /N 6 1:37.86
2 kg BT A FINFRE 6 1:38.98
RIS <15 SN IR g H /N 6 1:39.49
4 TR AAZE i H /AR 6 1:39.66
5 I B KT R/ NG 6 1:41.71
6 HEH BiJY KETAb/ N 6 1:58.85
28. /INFEAESELF 1000m
JIELT K4 o SEAE 6% =
1 ik SEme A/ N2 5 1:41.36
2 kg BHiK B TN 5 1:43.32
3 FE K R 7INFAE 5 1:56.70
4 FRHE T A FINFRE 5 2:22.02
29. /INFEEAFELF 1000m
JIELT K4 iR SEAE Gk W =
1 Bk Al AN 4 1:55.59
2 NI E=E KETH/NFAE 4 1:56.15
3 kg B g B /N2 4 2:01.04
4 HEE BTy RETE/ A% 4 2:24.03
5 e FXT KHET b/ N 4 2:33.83
6 Abh #h AN 4 2:41.99
(G EHES KRETE/ A% 1 DNS
i ER E/INE 4 DNS
30. /NFEAE3FE LT 1000m
JIELST K4 iR SEAE Gk =
1 kB B A IINFRE 3 2:18.26
2 luE gl H /N 3 2:45.15
31. /MNEAE2EHF 300m
[ K4 G SEAE Gk =
1 S R ENEEE5 2 0:42.50
2 HfW BA ﬁ&JII/J\%ﬁa 2 0:45.01
3 iR A NIUNE= 2 0:45.94
4 K FREE Yo BN 2 0:47.99



32. INEA2E LT 300m

7 K 4 G SEAE Gk i
TR S S E %B/J\%B*a 2 0:41.46
2 AT A EERSMINE 2 0:44.80
3 BEHE HE g H /N 2 0:49.18
4 INE FLTY SN WANE Y 2 0:52.64
33. NEAIESF 300m
I K4 G SEAE Gk =
1 /N s EEVIRE =S 1 0:42.20 CR
2 1K A VERS /INFAE 1 0:46.77
3wk B R & /N 1 0:55.66
34. /INFEE1ELF 300m
WAL __ K4 iR SEAE G =
1 ER JLEE i H /N2 1 0:47.00
2 PxEH HiE g B /N2 1 0:49.43
3 M B A ANE 1 0:51.40
4 FR¥L =M A FIINFRE 1 0:54.00
5 dbAT A g H /N 1 1:09.26
35. B4 4 F 2000mR
I K4 iR SEAE bk i =
AR R A o LR DNS
36. /MEAB T 2000mR
JIE 7. F— 1 FLAR i &
1 AR 3:45.69
2 WARRIr—RNITTA 3:57.51
3 WAHARF—KITT 4:31.27
4 WARRr—hIT77B 4:53.47
g H/NFAR DQ
37. /MNEAEEZTF 2000mR
JIE 7. F— 1 ook i &
1 FAH/NER 3:35.01
2SI 3:44.37
3 KETARr— N4 4:00.82
4 HAHR—NITT 5:11.28



